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* The images and the pictures in this lecture
are provided by the CDs accompanied by

the books
1. University Physics, Bauer and Westfall,

McGraw-Hill, 2011.
2. Principles of Physics, Halliday, Resnick,
and Walker, Wiley, 8" and 9t Ed.

* The rest is made by me.



Problem

d=2.0m, A= 0.50m # of maxima around a big loop
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Assumption of infinite
source distance gives
plane wave at slit so
that all amplitude
elements are in phase.
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Single slit diffraction
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asinf = 2\

In general, the m-th extrema are

asinf) =mA (m=1,2,3,--+)

Do we trust this method?




Intensity of single slit ditfraction
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Quantitative analysis
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Single slit diffraction
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Ditffraction by a circular opening




Ditfraction by a circular aperture

Circular Aperture Diffraction
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Rayleigh’s criterion for a telescope
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